
231 Quiz 7

March 31, 2011

Work individually. You may use your Notebooks but no loose papers, printouts, photocopies,
books, calculators, cell phones, or other resources.

If x = -1 is a maximum of the derivative l' (x) of some function f (x), then
the function f (x) has an inflection point at x = -1.

If f (x) is differentiable on lR and has a local extremum at x = - 2, then
1'( -2) = O.

If f(x) has a critical point at x = 3, then f(x) has a local minimum or
maximum at x = 3.

If f (x) is differentiable on lR and has a critical point at x = 3, then f (x)
has a local minimum or maximum at x = 3.

If 1'(x) is continuous on (0,8) and 1'(3) is negative, then 1'(x) is negative
on all of (1,8).

T 0 If 1'(x) changes sign at x = 3, then 1'(3) = O.

T (]) If 1'(3) = 0, then 1'(x) changes sign at x = 3.
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If f(x) is continuous and differentiable everywhere with f(2) = f(8) = 0,
then there is some c E (2,8) such that 1'(c) = 6.


